The trigonometric functions
Length of an arc (1)

EXCEL HSC MATHEMATICS
pages 114-115

QuesTioN 1 Find the arc length (in terms of 7), of a sector of radius r cm and angle at the centre 6
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d r=12, 6=560° e r=18, 6= 150° f r=25 6=72°

QuesTion 2 Find the length of the arc of the sector. (Give the answer correct to one decimal place.)

) 3w . . .
a radius 7 m, angle e b radius 2 km, angle 0.8 radians ¢ radius = 5.6 m, angle 156°
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Question 3 Find the radius of the sector with given arc length, [ cm, and angle at the centre g

b l=147r,9=2—57E ¢ (=105, 6= 40°
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The trigonometric functions
Length of an arc (2)

EXCEL HSC MATHEMATICS
pages 114-115

QuesTioNn 1 Find the angle, in radians in terms of 7, at the centre of the sector with given radius, r cm, and
arc length [ cm:

a r=10,1=5x b r=28,l=12?c c r=20,[=24m

QuesTion 2  Find the angle, to the nearest whole degree, at the centre of the sector with given radius r and |
arc length [

a r=11m,[=13m b r=7km,l%4km ¢ r=5c¢cm, [=22cm

QuesTion 3  The diagram shows a sector with arc length 16 m and radius 4 m. Find the size of the angle 6, ¥
to the nearest whole degree. '
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Page 66 1 a2zcm b4z cm ¢ 12
b 35cm ¢15.0 em [1d.p.]

Omem dé4mem e 15z cm f 107 cm 2 alesm bi16km c152m 3 a2ic
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